50.

51.

56.
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52.

53.

54.

55.

.t |.e.,

8, the

{1
To contés! = and
panchayd"S, o one
,-,-“,.-”mul’l"li!ge
|:.15-.:- Z‘D

(C) &8 .

should &

is 45 years. ¥
of their ages (;"
present age © ol

(A) 9 years
(C) 15years

(B) 10years
(D) 5 years

ial
it 5 is the zero of the polynomia
f(x) = axt+(2a+ 1) x— 5 then value
=
B) 3

(D) -35

ofais

2
(A) 3

(C) O

Dehati fair is held at
(A) Karnal
(C) Faridabad

(B) Kalthal
(0Y Panchakula

Which of the following movements, the
British Raj was shaken to its foundations

for the first time since 1857 first war of
independence 7

(A) Swadeshi Movement

(E) Home Rule League Movement
(C) Rowlatt Satyagraha

(D) Nen-Cooperation Movement
Find the Word which is

other 3 op “-givEn beﬂ:‘arem from the

A) Carrot
(R)=ar " (B) Potato

) Tomato
Wi (D) Beetroot

lﬂ"lﬂﬂ“lﬂ“mlﬂﬂ I AR AV
aﬂ q-aTEI'H 31:1-{ Whrm s

-gmﬂ'ﬂﬁ# ﬁgﬂﬂm%

A T

50.

51.

52.

Dokt (2a+ 1) x— ST

so. T
oM
s 58, a1 a A

B -
(D) -35

T e g # |
(A) T (B) FUd
(C) WiiemETe (D) U=FHe

Fr=icTiaa 8 | g steem & 1857 & wuH

A T F e gReh Tt
N 9 fafew 1=

(A) =Rt ST

(B) TW ¥ & atiarer
(C) Ttz Heamyz

D) o s

2
(A) 3

(C) O
54. <&l HaAl

55.

T 7T é
ﬂfﬁq’iﬁmfg:;?}%ﬁ[lﬂmﬁq ferpeai o
(A)

©) zore EE’*; %’"ET



g correct meaning of the underlined idiom
givan options.

3 speaker of the Lok Sabha stirred up

ahomet's nest by referring to the impending

changes in several rules.

(A) make an untrue story
(B) raise controversy

(C) confused himself

(D) perform a difficult task

‘You cannot befool me, as | was not born
'i-!;F:-‘IL:- Uday. .
(A) weak

(B) worldly wise
(C) unable to understand

1h

(D) give false hope
the blanks with suitable articles wherever

gave me one rupee note.

{ﬁff: Not needed
(B) The
© An

(D) A

" ."_}"1 is
\) The

) A

) Not needed

E—“ﬂ“ﬁh Lﬂngum

honour to his profession.
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correct options
il in m.'blﬂn“ wlth tha

«They could have been ge
M VHE. thay e 3

layed by the
73,

aﬁcalandianlearly i
(B) Intended to be

(D) Intend to be

mrq:uﬂia
(A) Intended to
© Intended

74,

Pick out the wrongly spelt word from the given
words.

Wlall"lﬂﬂUE
Griﬂarm
Flﬂcehfa

(A)
(B)
C)
O)

76. (A)
| (B)
(C)
(D)

75.

Etiquette
Lieutenant
Sollloquy
Bureaucracy

-

Fill in the hlm'wmi-'sﬂﬂhb‘lﬁ;fng of verbs.
7. ___(read) since 2 O'clock.

(A) read:

(B) was reading v

(C) have been rgaw

(D) has been Tﬂaﬂlng

gL

) An

78. Hawill'un_--mm;w ', |
ot MG;L (get)
(A) is
C) ¢
-13- P




gf-]-EE cm. The

ve and lens is convex
ex and lens is concave

o = =
...............
1

ird battle of Panipat was fought

~ (B) 1526
3

| "éﬁ was recently
ar public listad
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4/2018 (1) (M18) - ﬁﬁlaﬁ@tﬂm%’wmﬂﬁmﬁ
o i iad1 | 85. :
: gt = cel Ly WW‘W ﬁ"aiigi :
ro. Praily o () T el &
audl @ TN v & B R
) F of aft g, SfeT, T8
(D) W 2
© FE i i () i b T T
e 8 g 5 @y, gfean, TEI
g0. il T e R g (©) srfaaT=e ’ +4 ©
#‘mﬁ'aﬂmﬁm{m P W:W%Waﬂ g<A
(A) e D) EET ﬂ-raa‘rﬂﬁ 9T, -Fa"rﬁa'fl, aﬁ
() it : O e 2 e o1 o ©
81. f&'ﬂ%ﬁﬂﬁﬁﬂﬁﬁﬁ;ﬂmwﬁ@ql | ?
(A) Wtﬁ B6. ﬁmmﬂwf%ﬁm
(B At (A) TR = i
c) FaframEm (C) Uz (D)
o} o7, el 3 @ e 1 el ¥
82. HTCTA IWL : e
| f;m g 5? (A) Frem (B) &
2'. : s (C) Hed (D) EEDE
3. 48 3 78 : & [
% 3 N 88. T j:%ﬁmﬂﬂq mmﬁuﬂm% .
(A) 1=-3HT 2-% 3= 4‘% EE:; =+ [E.l} |
(B) 1-@ 2~ 3-%F 4-3T ©
C) 1-§ 2-31 3-3 4-9 89, ‘M@ I EHY
D) 1-&F 2-% 3-3 4-% (A) ﬁiﬁqﬁﬁﬂmw%
83. Wit Y12 % wgE= (B) T T/ H I
(A) el % (C) 3t
) it (0) %
(C) ®idrn
90. Uil H
(D) TR ﬁﬁm%mwm%lﬂmm
ga. =8 M NE& = ayrry (A) BT e @iy
i -d1 GAH S ¢ ) (B) me‘tﬁﬁm
(A) IR (B) =gehfa (C) ww=m 3
(C) el oI (D) ftg (D) wa?gm




T |

_ | Copper reacts with carbon dioxide in
the air to form green coloured
(A) Copper oxide

(B) Copper carbonaté
{C) Copper chloride
(D) Copper carbide

Area of the circle inscribed In & square of
side 1 cm IS

i !
(C) = cmF {D} 2n cm?

10. The Shivalik Hills are not found in the
districts of

(A) Ambala

(B) Panchakula

(C) Sirsa

(D) Yamunanagar

|, Approximately one cusec water is equal 10
(A) 28.317 litre/second

(B) 28.317 litre/minute

(C) 28.317 litre/hour

(D) 28.317 litre/10 second

A

12. J July was Monday, then 26" July of the
same year was
(A) Wednesday
(C) Thursday

(B) Tuesday
(D) Monday

is the first governor of Haryana.

(A) Shri B. N. Chakraborty
)} Shri Dharma Vira
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mw%m“ oY

e |
9 mg‘thﬂ AT R |
(A) iy SATRATES
(B) Ffr HTAAE
. (¢) FmFEUE
) T FHIES
o ¥ 1mﬂ;ﬁaﬁﬁﬁh?{ﬁﬁ
k 2
A o I
(©) © cm? (D) 2n cm?
10. ﬂﬂ'ﬁm_,__ﬂ-—-—-—-%ﬁaq
T IR
(A) FEET
(B) TEH
(C) Tl
(D) I
1. 1'ﬂ=@iﬁﬂaw___%m-€fm%|

(A 28.317 e/
(B) 28.317 ey /fime
(D) 28317 fex/ 10 ¥

’ R. S. Narula
D) Shri G. D. Tapase




5. Find the missing number (S
H’[ 13[ Zﬂ, ?.. 4”', 53 .
©) 29

— o
e

Arjuna with the grace of lo rd Shi
(B) Asvarishta

(A) Agneyastre IR
(C) Pashupatastra (D) Mrita Sanjivini

4, The distance between the points (a
A Pl k
‘and (—a. —b) are '

ot L Bt

AUray

T
o

the year '
(A) 1973
(C) 1979

7. The SUM of two dinis _
the digits is 154, f e g 9.1
number is 2 " : Is ¢
{A] 95 or .'I '
(B) 51 or . |
(C) 260r62
(D) None of the

. UTEAl I/ R, FHEH JE H AN

. TEHIEITE

(A) a1 i 3w e i wff
(B) e & i a1 fafsE
(©) e i SR SR
(D) G{Haﬁaﬂ'{ﬂﬁ?ﬁlﬁﬁﬁﬁm

. 4@ 8, 18, 20, 7. 40, 53 H v WEAT 1

i |
(A) 25 (B) 27
(C) 29 (D) 31

(C) 9rEHdrE

. fig(a,-b) M (-a -b)FAaH2

(A) V2a (B) 0
(C) a (D) ~/2(a+Db)

$ AT TR |

(A) dTed (B) ud
(C) =ra (D) aTH

6. &fmm % Enig e ad § & |

(A) 1973 (B) 1966

(C) 1979 (D) 1995

. & 31 3] H T 3N HAH ) FH a5

| T W1 T A 154 2 | AT 37 7 3w
4%, T T R
(A) 95 or59

(B) 51o0r.15
(C) 26 or 62

(D) T & F1E 9




itis a

(A) Border lin

Russia

B) Border line betwee

- South Korea

(C) Military exercise between
~ and USA

D) Military exercise between Russi

" North Korea

e between Norin Korea and
n North korea and
South Korea

a and

he highest point of Morni Hills is known as
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thun
i Maha! is located at m____..-———"_-*m R
NA) Kamal (B) Hisar ~¢ wmﬁ @ fo
:rp] Ambaia (D) Panipath g et (D) fel
. :hﬂiﬂ'l rn of Himalayas do f # ﬁﬂ‘htﬁ- EELG
Ry o & e ype of soi | m‘;ﬁ% arn 311
(A} North-eastern Himalayas (A) :ﬁ'{—‘{,ﬂw
."BJ Eastern Himalayas m @{ﬂmﬂﬂ '
| (©) Himachal-Uttarakhand Himalayas ©) W-ﬁmw
(D) Kashmir Himalayas ©) .ﬂ,ﬂ{fgqmq
he values of x and y satisfying the gefteTol by =3a +.H'3ﬁ‘
'nﬁlau+hy]=33+2h and = & :}{f;_inﬁmm*m
! —ay) =3b—2aare
_1—_-:', ':,r=_1. !mgﬁmt‘l
R g
{B, _2'?_ (B) 1:1.15,-5\‘:3
© ey = (C) x=2Yy=3 '|
(D) None of these ) vﬁ‘éi kLl | “
' Normally, in a healthy adult, the initial filterate | 60. wATE: T e = B, g5 o iy
in the kidney is about litre/day. e iﬂa“ﬁﬁﬁ‘ﬁi‘&mﬂﬂ B e |
(A) 60 (B) 120 (A) 60 (B) 120
(C) 180 (D) 90 (C) 180 (D) 90
The 38" parallel north frequently in news, 61. 38 :f AL mm‘-‘m HorEn W 9,
q8

() e e She e 3 afr = T
() 3t s S R e 3 e

Eeel
(©) e SR A il 1 T
(D) *H ﬁmﬁ?ﬁm =1 AT

g

62.

A) Karoh Peak (8) Garoh Peak

3) TosaPeak (D) Grash®l s

11-
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63.

64.

65.

66.

67.

68.

Find the mi
for 7, NPS, WYB,

(A) EGJ

(C) CEH -
age in
Cash reward for inter casté marriagd

Haryana I8
(A) Rs.10,000

(C) Rs.75,000

(B) Hs. Eg,ﬂﬂﬂ
(D} HE.']‘M,'UUD

“There can be no spirit of seli-goveinmen

about us, if we take away of alluW-_pthers
1o take from the peasants almost thewhole
~f the results of their labour. Our ﬁalvam:rn
can only come through the farmer. Nenher
the lawyers, nor the doctors, nor the rich
landlords are going to secure it". The
famous quote is uttered by

(A) Bhagath Singh
(B} Chandrashekhar Azad

(C) M. K. Gandhi
(D) None of the above

Which of the following form an AP ?
(A) 1, e
(B) 0.3,0.33,0.333, ...

(C) v2,22\2,4 .
(D) 8,9+V3,9+2/3,9+3/3, ..

Haryana government in the year 2015
declared that it will develop, 1

as the smart city,
(A) Gurgaon
(C) Panipath

= lobe

(B) Ambala
(D) Thari

Which of the following countries does not

O AR

F foe = Haw
2, NPS, WYE! FHK, OO
; (:r')'ilﬁ":tl (B) DFJ
s Z(; (D) GIK
(C)
ﬁa’rﬁiﬁmqﬁ"r
. gﬂﬂwﬁmﬁﬂﬂ
; ; 50,000
5. 10,000 (B) %90
:2 15* ?51000 (D) *®. 1,00,000
] 7 ) FRaET 8 3
: .3 .
§ fﬁgﬁﬂﬁﬁﬁﬁ?,?ﬁgmﬁmq

66. Frerferiian # & H w wHiAT Aft T 7
(A) 1,1,2,2,3,3,..
(B) 0.3,0.33, 0.333, ...

(C) V2,2, 242,4 ...
(D) 9.9+V3,9+23,9+3.3, ..

touch MEditErrangan shore ?
(A) ‘Greece (8) Spain
(C) Turkey (D) Germany

67. TN R a1 2015 & 78 Wi Faer
#

Eﬁl ! TR ¥ v i R
(A) T ;
(C) uiug :E: cm‘tl A

68. =gy
(A) g
) =f% E[E}; %

-12-
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m%ﬂqﬁﬁﬁfﬂ____
4/2018 (1) (M18) M ' | e ﬁﬂ;ﬁmﬂ’l 2
w ThE of glection of & 2/ :
Lokeabha s fixed B w) AEAE
{A}I spaakurF'l'ﬂtﬂam ' {E} Wmﬂ -
(8) Rajyasaoha Pl --hm () de A &
(C) Minmmrfar?aﬂiamﬂﬂmf . [D} ﬁﬁﬂﬁqﬁ

(D) None of the above d
auftarit Bx + ky = 3 S kx + 5y =3

b
ysby =3 | 39.
36, If the squations 5x + ky = 3and KKESY e vt 1 @t & k=

represent the same line then k=
(A) 1 (A) 1
t (B) 5
(B) 5
(C) 3 (C) 3
(D) None of these (D) =M & I8 AR
40. Ranijit sagar dam is constructed on which 40. TS wa’l‘aﬁmqﬁmw% 4
of the following rivers ?
(A) Ravi (B) Sutle] (A) TEf (B) R
(C) Beas (D) Chenab (C) =q™ (D) I

_ 3
41. [If 2cosec? 30° + xsin?60° - :‘.'-tiemE 30° =10 41. T2 2cosec? 30° + xsin260° — 2 tan®

then value of x is 30°=10Tt x I O &

(A) 1 (B) 2 (A) 1 (B) 2
C) 3 (D) 4 (©) 3 (D) 4
42. Tiriya ke Masmoom is written b Tt LE L Foa
(A) Altaf Hussain Haali : o A m# = |
(B) Amir Khusro o) W@;m
(C) Umrao Jan (B) S
(D) Allabaksh (©) bl
(D) eoarEEm
43. Who among the followin
g is known for th 43. Fafefgg
famous quote, “an uncontrolled pen ma: ﬁﬂmﬁqgﬁzam, T AF
but to destroy” ? ' Wwaﬂﬁﬁﬂmmt"%%ﬂm
(A) Leo Tolstoy by 7
(B) John Ruskin (A) T et
(B) ¥ ey

(C) Mahatma Gandhi
(D) Swami Vivekananda




! L Mr. X walks 1 km

ards East and turns

tow

ight and walks 3 . He again turms left and

walks 4 km. Einally he walks 15.km North

How far is he from the starting point ?

(A) 20 km @) 13km

(C) 16 km [D} None of these
45 PE)= 0.45 then probability of ‘not E' is

(A) 0.6 (B) 0.55

(C) 05 (D) 1

Three cubes each Of side 1 cm are joined

o end to end, the surface area of the resulting
solid 1s
(A) 7om (B) 14 cm?
(C) 3cmy’ (D) 8cm?

. — district is famous for light

engineering goods industry.
(A) Ambala (B) Rewarl
(C) Faridabad (D) Gurgaon

Match the following :

|. Jai Jawan Jai 1. Lal Bahadur
Kisan Shastri
Il. Jai Jawan Jai o Atal Bihari

Kisan Jai Vigyan ~ Vajapayee

Act East Policy 3. P. V. Narasimha
Rao

IV. Look East policy 4. Narendra
Select the right code .

(A) I=1 11-2 -3 IV-4

B) 1-11-211-4 V-3

€) I-2 -1 M=-31IV-4

D) 1-2 =1 W-41V-3

I,
Modi

Complete the analogy.
Video : Cassette : : Computer : ?
(A) Reels (B) Floppy

(C) Recordings (D) Files

49,

I, R FE FR A 3. f. . T
V. B A @ iy 4. T et

(A) I=1 1-2 -3 V-4

(B) 1-111-2 l1-4 V-3

() 1-2lI=1 M-3 V-4
@) I-21-1m-41v-3

4 THES R




(p) France
(C) Australia (D) UK
a9, Which among the districts in Haryana has
" highest population density 7
(A) Gurgaon (B) Panipat
(C) Faridabad (D) Sirsa

s I TEST is coded as 64’ then ‘EXAM is

coded as
(A) 34 (B) 43
(C) 45 (D) 44

34, 50 J of heat is produced each second in
a 5 Q) resistance. The potential difference
across the resistor is

(A) 50 V (B) 40V
(C) 5V10V (D) 105 V

& InAABC, AB=2./5cm, AC=10cm,
BC =445 cmthen B Is

(A) 120° (B) 60°

(C) 90° (D) 45°

|
3. In which of the following states the saddle

peak is situated ?

~ (A) West Bengal
(B) Andaman and Nicobar

(C) Goa
E{D} Coconut Island

nari Pension Thare Pass Scheme introduced
during 2015, with a view to ensure

(A) Transparency in pensions
';:- Transparency in government results
(C) Transparency in supply of cooking gas

4/2018 (1) (M18)

(B) 43
(D) 44

(B) 40V

© 510V @) 105V 3

a5. AABCH, AB=2.5 [, AC
BC =45 TN A B ®

(A) 120° (B) 60°
(C) 90° (D) 45°

36. e 3 e e T e =) v ® 7
(A) few ST
(B) IFeaH 3 FrEw
(C) T
(D) T 29 T8

37. 9l U¥H 9R 9I® ASE1 2015 F A,
HifTea w6 % foo @ H1 e |

(A) Y9 ¥ yrEfta

(B) TR} SR & arefdian

(C) THM areht g 1 amyfd # Tl

- 10 ¥,

j'-'m Transparency in social security
pensions

(D) =TT geeam e # Trafia



15.

16.

18. Read the nlloul] sta

[C] Medite .
(D) Tropical eV

(DO 0 R

14.

15.

#

SR A o 5w

weffa e | s, 4l
Bl

16.




4/2018 (1) mqqgg,?_ o
Janan? oo
(A) Nadif & j‘:r. D)
I:G} A :“-_--

26, Find the nUMe .
3 numbels:

(A) 29
{E] o

27. HUHMM
(A)
(B)
(C)
(D)

-

Whic
estabil
Decar

(A) #
(B)
(C) G
(D) G

28.

......

29. Solutio 4
4./3x° 4 0"
(A) V3,

(©) ‘;—5 ,

30. The second battla
between Hemu ang

Panip

(B) Nadir Shah
{C'_I Akbar

AR

25. Wﬁmﬂfﬂmﬂﬁmﬁ?@l?
(A) TR ATE (B) AT

(C) 37&HE TME (D) 19
26. maﬁﬂﬁiﬁ@ﬂmﬂaﬁl

(A) 29 (B) 31

(C) 39 (D) 41

27. HUHM %1314 2
(A) Zfmon 2rda ged e
(B) gﬁamm%iﬁmﬁq
(C) frTon 37E SR A

(D) EFET e &HA T

08, WTE T AT R ST i T
£ wregfe o wfirf 3 1 7
(A) et HEan wfd
(B) seAdd UG @Al
(C) Sft. &ft, %, Tg i
(D) TTeRTe wifd

29. THF 43x% +5x-2J3 =0 FEA &

-2

® V3 = (B) ifi%
J3 -4

© 275 0) 3,2

30. R 1 790 72, ¥ b
ST |

(A) e
(B) =fet s
(C) =Fem

(D) #q

33.

34





